
Y2 – Autumn – Block 2 – Step 19 – Mixed addition and subtraction Answers

Ques>on Answer

1

a) 39
b) 41
c) 43
d) 37

2

a) 68        22
b) 61        29
The sum of two numbers is greater than their difference.
Part a) did not require you to cross a 10 but part b) did.

3

a)

b)

c)

d)

4 57

5
a) 17
b) 51

6 47

61

35

33

46



Y2 – Autumn – Block 2 – Step 19 – Mixed addition and subtraction Answers

Question Answer

1

a) 31
b) 31

The numbers are the same, but in part b) 1 ten has been exchanged for 10 ones.
18
31 − 13 = 18

2
43 − 25 = 18

3

a) 17
b) 26
c) 16
d) 19
e) 28
f) 58

4

a)

b)

c)

5

Tiny has found the difference between the ones digits. 
Tiny needs to exchange 1 ten for 10 ones, and subtract 9 from 14
36

6
a) 52
b) 14

7

46

57


